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TOTAL TIME: 40 minutes
14 questions
30 marks

= DO NOT OPEN THIS BOOKLET UNTIL. YOU
ARFE TOLD TO DO SO. .

= READ ALL THE INSTRUCTIONS CAREFULLY.

* ANSWER ALL THE QUESTIONS. *
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Questions ¥ To 4-carvy-1 mark-each; For each-question, four optionsare
given. One of these is the correct answer. Chosse the correct angwer
and-write its number (1, 2, 3 or 4) in the bracket provided. (4 matks)

1. Whatis the niissing number in the number bond shown below

(1) eight {2) nine

(3) ten {(4) eleven | ( )

2. 13+2=[ 2
What is the missing number in the box above?

(1 1 (2) 5

@) 1 4) 15 «




Set A |
SetB B

SetBhag fewer stars than Set A.
@ 1 (2) 2
(4) 4 ( )

(3) 3

Which ruler is the shortest?

(2) RulerB

N

(1) Ruler A
(4) Ruler D-

(3) RulerC

2
143



Questions B to 8 carry 2 marks each. For each of the following
questions, write The correct answer it the box provided. . (8 marks)

B. - Caili is trying to find the missing number in the number bond as
shown below.

After finding the missing humber, she subtracts 1 from it to get a
new number. What i the new number?

6. How much longer is Pencil A than Pencil B?
Write the answer in the box below.

1-unit

units:




7. :.Addthe 2 missi na-nutmbers in the-nufber pattern below.

What i e answer?

10

-

8. .Tom is thinking of a humber.
Whenheadds 3 fo it, it becomes 15,
What i$ the nurnber he is thinking of?

153



Questions 9 +o. 14 caery 3-marks each. Answer-each- question-in-the-
space provided. Show your working clearly as marks will be awarded:for
pelevdant statements and correct answers. {18 marks)

9." Steven has 2 red stickérs,
He-also has. 7 blue stickers,
How many gtickers does he have altogether?

He has . alfogether.

10. Allan has 15 sweets,
He gives his sister-9 sweets.
How many sweets has he left?

et

He has _ left.




1% - awd has 14 s?amps

He; gives. Balasome of his sfamps cmd has'% stamps: {eft.

How wany starmps kas he given Bala?

-

He has given Bala

v 12, ¢ Cgilias4 ropes, A, B, Cand D.

Rape A islohigér than Rope C.

Rope B is shorter than Rope D but longer than Rope. A
Which rope is the shortest? (Hint: Draw it out)

Rope i3 the shortest,

6

6t



13, Ainiis thinking: of~’rwe different: nufabersless-than 10
When shie adds the two numbers, she gets 7.
When she subitracts the sma]ler number from the bigger number,

she.gels 3.
'Whm‘ iz 'rhe bigger number? (Hint: Guess and Check)

~ The bigger number is




14, Balahis 6. white pingspongballs,
He has 1o eolour them yelfow or blue.

There must be at least-a yellow or-d blue ball.

How-many ways canhie-do i+
{Hint: Make o Systematic List)

There are
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9. 2+7=9
He has 9 stickers altogether,

10. 15—9=6
He has 6 sweets left.

11. 14-6=38
He has given Bala 8 stamps.

12. Rope D is the shortest.

13. (guess and check)
The bigger number is 5.

130.0003.

* 000000
1000000

There are 5 different ways.
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